
BBO Lagspel  Omgång 7, Div 2
Plac Lag Ronder V-O-F Imp Kvot VP
1 Löven 6 0-3-3 197 - 151 1.305 71.36
2 Grubbe 6 1-2-3 177 - 154 1.149 64.69
3 Frost 6 0-2-4 143 - 175 0.817 53.8
4 Hardwork 6 0-0-6 149 - 186 0.801 50.15

Rond 1 Imp VP
Löven   - Frost 25-42 5.07 -14.93
Hardwork   - Grubbe 19-36 5.07 -14.93

Rond 2 Imp VP
Frost   - Hardwork 27-21 12.01- 7.99
Grubbe   - Löven 12-35 3.82 -16.18

Rond 3 Imp VP
Löven   - Hardwork 21-23 9.29 -10.71
Grubbe   - Frost 33-17 14.7 - 5.3

Rond 4 Imp VP
Frost   - Löven 14-35 4.21 -15.79
Grubbe   - Hardwork 29-32 8.95 -11.05

Rond 5 Imp VP
Hardwork   - Frost 18-42 3.63 -16.37
Löven   - Grubbe 50-24 16.73- 3.27

Rond 6 Imp VP
Hardwork   - Löven 36-31 11.7 - 8.3
Frost   - Grubbe 1 -43 0.98 -19.02


